

Name: CHONG HOOI MIN

Matrics No: P2206104

INSTRUCTION: Answer the following question.

[10 marks]

Derive the Compton scattering formula between a photon and a free particle of mass m :

$$\Delta\lambda = \lambda' - \lambda = \lambda_c (1 - \cos\theta)$$

where $\lambda_c = \frac{h}{mc}$ is the Compton wavelength of the target particle. Explain your steps clearly.

[10 mark]

Mom conservation in y: $p' \sin\theta = p_e \sin\phi$ ✓
 Mom conservation in x: $p - p' \cos\theta = p_e \cos\phi$ ✓

squaring and adding: $p_e^2 = p^2 - 2pp' \cos\theta + p'^2$ - (1) ✓

Conservation of total relativistic energy:

$$cp + mec^2 = cp' + E_e \rightarrow E + mec^2 = E' + E_e \quad \text{--- (2) ✓}$$

$(py)^2 + (px)^2$, substitute into (RE) to eliminate ϕ , p_e and E_e (and using $E_e^2 = c^2 p_e^2 + m_e^2 c^4$):

~~squaring and adding: $p_e^2 = p^2 - 2pp' \cos\theta + p'^2$ - (1)~~

Gantikan (1) dan (2) dim (3)

$$E_e^2 = c^2 p_e^2 + m_e^2 c^4 \quad \text{--- (3) ✓}$$

~~$$(E + mec^2)$$~~

$$(E + mec^2 - E')^2 = c^2 (p^2 - 2pp' \cos\theta + p'^2) + m_e^2 c^4 \quad \text{✓}$$

left: $(E + mec^2 - E')^2 = E^2 + 2Emec^2 - 2EE' - 2E'mec^2 + m_e^2 c^4 + E'^2$

right: $c^2 (p^2 - 2pp' \cos\theta + p'^2) + m_e^2 c^4$
 $= c^2 p^2 - 2c^2 pp' \cos\theta + c^2 p'^2 + m_e^2 c^4$

left = right

$$E^2 + 2Emec^2 - 2EE' - 2E'mec^2 + m_e^2 c^4 + E'^2 = c^2 p^2 - 2c^2 pp' \cos\theta + c^2 p'^2 + m_e^2 c^4$$

$$E^2 + 2Emec^2 - 2EE' - 2E'mec^2 + m_e^2 c^4 + E'^2 = E^2 - 2EE' \cos\theta + E'^2 + m_e^2 c^4$$

$$2Emec^2 - 2EE' - 2E'mec^2 = -2EE' \cos\theta \quad \text{✓}$$

$$Emec^2 - E'mec^2 = -EE' \cos\theta + EE'$$

$$mec^2 (E - E') = EE' (1 - \cos\theta)$$

$$\frac{E - E'}{EE'} = \frac{(1 - \cos\theta)}{mec^2}$$

$$\frac{1}{E'} - \frac{1}{E} = \frac{1}{mec^2} (1 - \cos\theta) \quad \text{✓}$$

$$\lambda_e = \frac{h}{m_e c}$$

$$E = \frac{h c}{\lambda}$$

$$\frac{\lambda'}{h c} - \frac{\lambda}{h c} = \frac{1}{m_e c^2} (1 - \cos \theta) \quad \checkmark$$

$$\frac{1}{h c} (\lambda' - \lambda) = \frac{1}{m_e c^2} (1 - \cos \theta)$$

$$\lambda' - \lambda = \frac{h c}{m_e c^2} (1 - \cos \theta)$$

$$\lambda' - \lambda = \frac{h}{m_e c} (1 - \cos \theta)$$

$$\Delta \lambda = \lambda' - \lambda = \lambda_e (1 - \cos \theta) \quad \checkmark$$